Name: Date:

Expanded Notation

Q1 Write in standard form.

a. 8 lakhs + 0 ten thousands + 5 thousands + 1 hundred =

b. 5 ten thousands + 3 thousands + 3 ones =

c. 3,00,000 + 2,000 + 100 + 20 =

d. (5x 1,00,000) + (5 x 100) + 1 _

e. 40,000 + 2,000 + 600 + 30 + 7 =

Q2 Write in expanded form.

a. 28,457 =

b. 5,20,754

c. 8,26,444 =

d. 33,211

e. 805,566 =

Q3 Fill in the blanks.

a. 30,000+5,000+300+20+1

b. 4,00,000+4,000+300+10

c. 80,000+60+1 =

d. 56,782 = __ ten thousand+__ thousands+__ hundreds+__ tens+__ ones

e. 29,536 = 2x + 9X + 5x + 3X + 6X__

Q4 Write the number.

a. 10 lakhs = b. 600 thousands =




